Sentence Structure - Results
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Results
conjunction verb or example
noun

Consequently, verb

As a result, Paul has won 27 million pounds on the national

and as a result, lottery. Consequently, he has bought his mum

Therefore, a new car.

due to which,

,which is why Paul has won 27 million pounds on the national
lottery and as a result, he has bought his mum
a new car.

resulting in noun Paul has won 27 million pounds on the national

, Which resulted in

lottery, resulting in him buying his mum a car.

Paul didn’t cook the shellfish properly, resulting
in diarrhoea for his house guests.

Paul didn’t cook the shellfish properly, which
resulted in his house guests having diarrhoea.

Paul didn’t cook the shellfish properly, which
resulted in his house guests having diarrhoea.
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Exercise 1

Use verbs from the box below and choose a result linker from the box above to complete
the sentences.

fall off move sleep listen show hit
fracture develop commence spend drop
1. He wvrrrrseeriaens all of his money, ..coccveceereninnes R ¢ [T on a park bench.
2. Joanne ...eeeeeenenen. her bike, wvveeeveerennees Q vrererersnnnenenens
3. Mr Harrison ...ineicnes signs of GOUL. wevveeenrerensanns , he e on allopurinol.
4. The golf ball ...ccecurineeneee Peter in the face, ..ceiecersnnnes a black eye.
5. My brother ...vveeeeene. to music too loudly on his headphones. .....cccccveeennns , he
6. His vitals weeeeeceesannnees significantly overnight, ....cccccvveerunnee. | AT to the ICU.

Exercise 2
Try the same sentences with a focus on causes instead:

1. The golf ball hit Peter in the face, which resulted in / resulting in a black eye.

2. My brother listens to music too loudly on his headphones. As a result, he has
developed tinnitus.

3. His vitals dropped significantly overnight, due to which he was moved / resulting in
him being moved to the ICU.
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Answers

Exercise 1
1. He spent all of his money and as a result, he slept on a park bench.
2. Joanne fell off her bike, resulting in a fracture

3. Mr Harrison is showing signs of gout. As a result. / Consequently, he has been commenced on
allopurinol.

4. The golf ball hit Peter in the face, resulting in/ which resulted in a black eye.
5. My brother listens to music too loudly on his headphones. As a result, he has developed tinnitus.

6. His vitals dropped significantly overnight, resulting in him being moved to the ICU.

Exercise 2
1. The golf ball hit Peter in the face, which resulted in / resulting in a black eye.
e Peter had a black eye because a ball hit him in the face.

e Peter had a black eye due to a ball hitting him in the face.
e Peter had a black eye due to him being hit by a ball in the face.

2. My brother listens to music too loudly on his headphones. As a result, he has developed
tinnitus.

e Due to / As a result of listening to music too loudly, my brother has developed tinnitus.
e My brother developed tinnitus because he listened to music too loudly.

3. His vitals dropped significantly overnight, due to which he was moved / resulting in him being
moved to the ICU.

e His vitals having dropped overnight, he was moved to the ICU.
e Due to his vital signs dropping, he was moved to the ICU.

e Duetoasuddendropin

e Due to the fact that his vital signs dropped

e He was moved to the ICU because his vital signs dropped.



